Chapter 11 Review

1. Complete Gas law WS #1-14, check answers on line

2. Be able to define the following vocabulary listed on your agenda.

Answer the following questions completely. Show work when necessary.
1. What factors must be held constant (not change) when observing:

a. the effects of changing pressure on the volume of a gas

b. the addition of gas to a container changing the volume

c. increasing gas pressure by adding more gas molecules

d. the decrease in temperature which decreases the volume of a container

2. Why does a woman walking in high heels in grass sink while her date does not?

3.  Why is it incorrect to say that the balloon was sucked into the flask at the balloon station? What really happened?

4.  How are the flask with the balloon station and the can station similar?

5.  Complete the following conversions:

a. 1.25 atm to torr

b. 125 mmHg to atm

c. 5.38 kPa to mmHg

d. 3.20 atm to kPa

e. 125K to (C

f. -125(C to K

g. -272(C to K

6.  A mass of air occupies a volume of 5.7 L at a pressure of 52.7kPa. What is the new pressure of the same mass of air at the same temperature is transferred to a 2.0L container?

7. A volume of 20.0 L of oxygen gas is warmed from -30.0(C to 85.0(C. What is the new volume if the pressure is kept constant?

8. A rigid container holds a gas at a pressure of 55kPa at a temperature of         -100(C. What will the pressure be when the temperature is increased to 200(C?

9. What is the mass of a sample of CO2 that has a volume of 75.0 ml at 30.0(C and 91kPa?

10. Determine the total pressure of a gas mixture that contains CO, Ne, and He if the partial pressures of the gases are PCO =155 kPa, PNe = 83 kPa, and PHe = 34kPa.

11.  A sample of gas occupies a volume of 80 ml at a pressure of 0.50 atm and a temperature of 0(C. What will be its new volume at a pressure of 1.50 atm and a temperature of 50(C?

12. Calculate the mass in grams of 40.0L of CO2 at STP
13. Acetylene gas, C2H2, undergoes combustion (burns in the presence of oxygen gas) to produce water vapor and carbon dioxide. 
If 75.0L CO2 is produced, 
A. What is the balanced equation?

B. How many liters of C2H2 are required?
C. What volume of water vapor is produced?

D. What volume of O2 is required?
